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Exam Instructions for Students:

& As you enter show your Entrance Exam Admittance Form & your ID card.

&~ Make sure your mobile phone is switched off and place it at the front (on the teachers’ desk) together with
any bags, books, coats etc. Then find your seat.

& Students are NOT permitted to have pencil cases / glasses cases on their desks. Pens/glasses must be re-
moved and placed on the desk and all cases must be left at the front/side of the room with other belongings.
& Remember that talking is not allowed at any time in the exam hall.

& Place your Entrance Exam Admittance Form & your ID card on your desk.

& Listen carefully to instructions given by the exam invigilators. Students are required to comply with the
instructions of invigilators at all times. For example, if you are asked to sit in a designated place then you
must do so and you must not move.

& You are going to receive one entrance exam booklet and an answer sheet. Do not open your booklet until
you are told so.

& YOUR ANSWER SHEET IS THE MOST IMPORTANT PAPER FOR YOUR ENTRANCE EXAM SINCE
IT IS THE ONLY DOCUMENT THAT WILL PRESENT YOUR SUCCESS TO THE EXAM COMMITTEE.
THUS, DO NOT FORGET TO FILL THE GIVEN AREAS ON THE ANSWER SHEET ACCORDINGLY
AND DO NOT CRUMPLE IT. DO NOT WRITE OR DRAW ANYTHING ON IT AND DO NOT FORGET
TO RETURN IT TO YOUR INVIGILATOR.

& Total time you will use to complete the exam is 120 minutes (2 hours). Use your time wisely.

& Your question solving speed and correctness of your answers is important. Therefore, try skipping the
questions that appear to you harder. Try to spare some time for such questions so that you solve them in the
end.

& You may start to answer the questions of your choice. You do not have to follow the question order given
on the exam.

& Every question has only one correct answer. If you have filled more than one circle (among possible 5) for
any question, such questions will be evaluated as incorrect.

& If you want to change your answer for any question, erase the incorrect answer gently and fill the correct
circle of your choice.

& Keep your answer sheet and your booklet in secret and make sure that your neighboring students won't
see them.

& You are not permitted to share any materials like erasers, sharpeners etc. with other students during the
exam.

& You are not allowed to leave the exam room in the first 30 minutes and last 15 minutes.

& You are not allowed to use any additional papers to solve the questions. Empty spaces in the booklet can
be used for any rough work. Everything you write (including any notes and rough work) must be in the
booklet.

& If you have a question raise your hand and the invigilator will come to you. Invigilators will not give hints
or answers, so please do not ask for them.

& Keep your eyes on your own paper. Remember, copying is cheating!
& Stop writing immediately when the teacher says it is the end of the exam.

& Leave the exam hall quickly and quietly. Remember to take all your belongings with you. You must re-
main silent until after you have exited the building.

& Remember! Cheating is not allowed and action will be taken!
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MATHS (1 - 25)
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8.x—y=2, x-y=6 :>(x+y)2=?

A)8 B)16 C)28 D)36 E) 42

9.
— ABCD e kBagpaT. AKO NnepumeTapoT Ha
ABCD=40cm, Toraw Ko/iIKy € HeroBaTa NAOWTMHA?
— Perimetri i katrorit ABCD éshté 40cm, sa éshté
syprina e tij?
— ABCD bir kare ve cevresi 40cm ise alani nedir?
— ABCD is a square. If perimeter(ABCD)=40cm
then area(ABCD)=?

A)16cm®  B)40cm’ C) 80cm’®
D) 100cm®>  E)400cm’
09 0.1 0.15
0. + - =7?
0.03 0.02 0.05
A) 30 B) 32 C) 34
D) 36 E) 38
11, M) o v
3
A) xe[2,oo) B) xe(—oo,2]
1
Oxex2  Dx e(_oo,ﬂ
E) x e[—,o)
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12.
— Koj uen 6poj moxe fa ce 3aMeHN Ha MecToTo
Ha x ?
— Cili numér i ploté mund té zévendésoj x-in ?
- x yerine hangi tamsayi gelebilir?
— Which integer can be replaced instead of x ?

x 11
%% G
A)1 B) 2 C)3
D) 4 E)5
13. 124 mm= m
A) 1240 B)12.4 C)1.24
D) 0.124 E) 0.0124

1 3
B)— C3 D E) =
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15.
—Hajgu ro 5 — oT YneH Ha gageHaTa HU3a.
— Gjeni anétarin e 5-té té vargut.
— Verilen dizinin 5.terimini bulunuz.
— Find the 5™ term of the given sequence.
25,21,17, ...

A) 15
D) 10

B) 13 c)11

E)9

16.
— loauHUTe Ha Bo3pacT Ha 7 aeua ce:
51,4, 7,6, 7, 9. AKO apuTMeTn4KaTa cpeamnHa
Ha HUBHMUTE FOAWMHWM e 6, Hajau ja Heno3HaTaTa
BO3pacT?
— Shtaté fémijé jané té moshés 5, 1, 4, ?, 6, 7, 9.
Nése mosha mesatare e tyre éshté 6, gjeni moshén
gé mungon.
— Yedi cocugun yaslari sunlardir: 5, 1, 4, ?, 6, 7, 9.
Bu cocuklarin yas ortalamasi 6 ise; yasi verilmeyen
cocugun yas! kastir?
—The ages of seven children are 5, 1, 4, ?,6, 7, 9.
If the mean of their ages is 6, find the missing age.
A)4 B)6 C)8

D) 10 E) 12

17.
— Koja of, cnefHWTE IMHUM MUHYBA HU3 TOYKaTa
A(-3,2)?
— Cila nga drejtézat e méposhtme kalon népér
pikén A(-3,2)?
— Verilen hangi dogru A(-3, 2) noktasindan
gecmektedir ?
— Which of the following line passes through the
point A(-3, 2)?

A) x-y=1
B) x+y=5
C) y—-x=-1
D) x-2y=4
E) - x-y=1
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18.
— Opfpeam ja naowTMHATa Ha TpanesoT.
— Sa éshté syprina e trapezit?
—Yamugun alanini bulunuz.
— The area of the trapezoid="?

18 cm Y
32 ¢cm 54 ¢cm
A) 198 cm®  B) 387 cm? C) 396 cm?
D) 774cm®  E) 1548 cm?
19.

— EgHa napuuka ce Bptu(dpna) 5 natu. Koja

€ BepojaTHOCTa AeKa Ha ropHaTa CTpaHa Ha
napuyKara Ke ce nagHe <netka> bapem egHaw?

— Njé monedhé éshté hedhur 5 heré. Sa éshté
probabiliteti g&¢ monedha té bjer té paktén njé
heré nga bishti?

— Acoinis tossed 5 times. What is the probability
that the coin shows tails at least once?

— Bir madeni para 5 defa havaya atiliyor. Madeni
paranin en az bir kez tura gelme olasiligl nedir?

1
1 _
AL B S
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2
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20.

— MpecmeTaj ro BONIYMEHOT Ha LWIMHAAPOT, aKo
paauycoT r= 4cm, a BUCMHaTa h= 6cm.

— Gjeni véllimin e cilindrit nése rrezja r=4cm dhe
lartésia h=6cm.

- Verilen silindirin taban yarigapi 4cm ve yiiksek-
ligi h=6cm ise hacmi nedir?

— For the given cylinder, if r=4cm and height=6cm
then volume=?

A
i T

A) 96tcm’  B) 96cm’  €) 100mem’
D) 384cm’  E) 384ncm’

21.

x=1?

A) 50° B) 59° ¢ 71°
D) 109° E)121°

1HE %clmlarshif- IFExam 2021 & 2022
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22.

— [eBojknte n momumTe 04aT Ha LWKOJO NOo
pa3nuyHK natuwTa. MpoHajam rm HenosHaTUTE
cornacHo Tabenara.

- Vajzat dhe djemté shkojné né shkollé né rrugé
té ndryshme. Gjeni té panjohurat sipas tabelés.
— Asagidaki tablo kiz ve erkek 6grencilerin okula
nasil gittiklerini gosterdigine gore bilinmeyenleri
bulunuz?

— Girls and boys are going to school in different
ways. Find the unknowns according to the table.

Mawkn/ | KeHcku/ | BrynHo/
Djem / Vajza/ Gjithsej/
Erkekler/ Kizlar/ Toplam/
Boys Girls Total
Kona/ veturé
/araba/car 30 25 >3
asTobyc/
autobus / 48 A B
otobis/bus
newkun/
ec /yuriyis/ C D 16
walk
Benocunen/ 6
bicikleté / E 1
bisiklet/bike
BKYMNHO/
gjithsej / 90 80
toplam/total

A) A=45, B=93, C=5, D=7, E=9
B) A=45, B=93, C=7, D=9, E=5
C) A=45, B=93, C=9, D=5, E=7
D) A=93, B=45, C=7, D=5, E=9
E) A=93, B=45, C=7, D=9, E=5

23.

snes/ hyrje | nsnes/ dalje
/giris /input | /cikis/output
2 7
5 13
8 19
X 27
18 y
X+y="?

A)12 B)27 C€)39 D)46 E)51



24,
— MpecmeTaj ja BKynHaTa NAOWTMUHA Ha
3aTemHeTnoT (WpadupaHMoT) aen. (cute arnu ce
npaswu arnu)
— Gjeni syprinén e pjesés sé hijézuar. (Gjithé
kéndet jané té drejté)
— Tarali alani bulunuz.(tim agcilar dik agidir)
- Find the total area of the shaded region. (all
angles are right angles)

10m
4 m

15 m

A) 126m> B)130m° C)136m*
D) 140m> E) 150m’

25.
— AKo a, b 1 c ce HeraTuUBHM uenu 6p0€BM n ako

a 3 b 2

—=— , —=—, Torauw:

b 5 ¢
—a, b dhe ¢ jané numra té ploté negativ, nga
a 3 b

—=— , —=— kemiqé

b 5 ¢
—a, b ve ¢ negatif tamsayilar olmak lizere
a 3 b

—=—, —=—ise,

b 5 ¢
—a, b and c are negative integers and

a 3 b 2

—=—, —=—50,.

b 5 ¢ 5
A) c<a<b B) b<c<a C) c<b<a

D) a<b<c E) a<c<b

[
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GENERAL KNOWLEDGE (26 - 45)

26.

— EOeH y4eHUK HanpaBuWA fIEHTA NO KOja MOKe Aa
ce TpKanaat yamauu. Llamnuunte ce nywTaat ga ce
ABUXKaT og, Toukata A. Kaj Koja og Toukute A, B, C,
D nnan E yamnmjata Mma Hajronema rpaBuTaLMOHa
noTeHUWjaNHa eHepruja?

—Njé student bén njé pisté pér t’u rrokullisur topthat.
Topthi e fillon |évizjen nga pika A. Né cilén piké A, B,
C, D ose E topthi ka mé shumé energji potenciale
gravitacionale?

— Bir 6grenci misketlerin yuvarlanmasi icin bir yol
yapar. Misketin A noktasindan gitmesine izin verir.
Misket A, B, C, D veya E noktalarindan hangisinde en
fazla potansiyel cekim enerjisine sahiptir?

— A student makes a track for marbles to roll down.
He lets the marble go from point A. At which point
A, B, C, D or E does the marble have the most
gravitational potential energy?

A) A
B) B
Q) C
D) D
E) E

i
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27.

- Knaukanata Ha AgmarpamoT e BO pamMHOTexa.
Konkaga e BpegHocTa Ha X?

- Lekundésja né diagram éshté e ekuilibruar. Sa éshté
vlera e X?

- Semadaki tahterevalli dengededir. X degeri nedir?

- The see-saw in the diagram is balanced. What is
the value of X?

i i T —>
':I4 25cm b:'I* _10cm *I:I :.
X 1N 2N

A)1N

B) 2N

C) 3N

D) 4N

E) 5N

28.

— MNoTpebHun ce 4200 J ga ce Nnokaum TemnepaTypara
Ha 1 kg Boga 3a 1°C. Konky eHepruja Bo kJ e notpebHo
[a ce NoKauyu TemnepatypaTa Ha 2 kg Boaa 3a 2°C?

— Duhen 4200 J pér té rritur temperaturén e 1 kg
ujé né 1°C. Sa energji né kJ do té duhej pér té rritur
temperaturén e 2 kg ujé me 2°C?

— 1 kg suyun sicakhgini 1°C yikseltmek icin

4200 J enerji gerekiyor. 2 kg suyun sicakligini 2°C
ylkseltmek icin k) cinsinden ne kadar enerji gerekir?

— It takes 4200 J to raise the temperature of 1 kg of
water by 1°C. How much energy in kJ would it take to
raise the temperature of 2 kg of water by 2°C?

A) 4,2
B) 8,4
C) 12,6
D) 16,8
E) 21
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29. Kora ABa MarHeTM ce MNOCTaBEHW KaKo Ha
cavkaTa | Tme ce ogbuBaaT, a Kora ce MOCTaBeHU
KaKo Ha caunkarta |l Tme ce npmeneKkysaar. Kaksa cuna
nocTou mery MarHeTuTe Kora TMe ce NOCTaBEHU KaKo
Ha caunKata lll M Kou ce BO3MOXHUTE KOMBUHaLUMK 3a
MarHeTHuUTe NoA0BM Ha Kpaesute D n E?

I

“repalsion”
U
L | 2 > «{g F
“atiraction”

I
‘C D 'E F

-~

A) npuenekysame: D - jyxkeH non u E - jyxkeH
non; unn D - cesepeH non u E - cesepeH non

B) npuenekyBame: D - ceBepeH non, a E - jyxeH
non; uan D - jyxkeH non, a E - ceBepeH non

C) opbuBamse: D - jyxkeH non u E - jyxkeH non; unu
D - cesepeH non u E - ceBepeH non

D) opbusamse: D - ceBepeH non, a E - jy»keH non;
nnun D - jyxkeH non, a E - ceBepeH non

E) HUTY eaeH o ropHUTe n3bopwm

29. Kur magnetét jané té vendosur si né figurén-I,
ata débohen, kur ndodhen si né figurén-Il ata
térheqin njéri-tjetrin. Cfaré lloj i forcés ndodh dhe
cilat jané llojet e poleve té€ mundshém té skajeve D
dhe E né figuré- 11I?

I
ﬁm m*

“repal=ion
U]
‘ A | s> "‘ E E
“atraction”

Ty

A) Térhigen Jug,Jug ose VeriVeri
B) Térhigen Veri,Jug ose Jug,Veri
C) Débohen Jug,Jug ose Veri,Veri
D) Débohen Veri,Jug ose Jug,Veri
E) Asnjéra nga kéto

cholarship Txam 2021 & 2022
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29. Miknatislar sekil-I'deki gibi yerlestirildiklerinde
birbirlerini itiyorlar, sekil-Il'deki gibi yerlestirildik-
lerinde birbirlerini ¢ekiyorlar.

sekil-11" de ne tiir bir kuvvet olusur ve D ve E uglarinin
muhtemel kutup tipleri nelerdir?

i

“repulsion”

U]

'.q. | B > "‘:;— | F
“attraction”

Iy
‘c D \E | F

-a=

A) cekim kuvveti - Gliney, Giiney veya Kuzey,
Kuzey

B) cekim kuvveti - Kuzey, Gliney veya Giiney,
Kuzey

C) itme kuvveti - Giiney, Giiney veya Kuzey, Kuzey

D) itme kuvveti - Kuzey, Giiney veya Giiney, Kuzey

E) Higbiri

29. When the magnets are located as in figure-I
they repel, when they are located as in figure-Il they
attract each otherWhat type of force occurs and
what are the types of possible poles of ends D and
E in figure-1l1?

I
ﬁm m*

“repilsion”

o
‘.r'l. I B > "‘s | F

“atiraction”

"
'C D 'E | F

=~

A) Attraction South, South or North,North

B) Attraction North,South or South, North
C) Repulsion South, South or North,North

D) Repulsion North,South or South, North
E) None of them



30. [lpeasuaete Koja o4 OBMe CYNCTaHUUKU €

HajaobpPNOT CNPOBOAHUK HA TOM/INHA:
A) Cyndyp  B) AproH
D) Xennym

C) Kannym
E) PagoH

30. Parashiko se cila nga kéto substance éshté
pércues mé i mire i nxehtésisé:

A) Sulfuri B) Argoni
D) Heliumi

C) Kaliumi
E) Radoni

30. Asagidakilerden hangisi isiyl en iyi bir sekilde
iletir:
A) Sulfar B) Argon C) Potasyum
D) Helyum E) Radon

30. Predict which of these substances is the best

conductor of heat:
A) Sulfur B) Argon
D) Helium

C) Potassium
E) Radon

31. KonKy pasnnyHn BUAOBWN HA aTOMM Ce MPUCYTHMU
BO oBa coegunHeHne CuSO, x 10H, O:

A)1 B)8S C)4 D)36 E) 10

31. Sa lloje té atomeve té ndryshme jané prezente
né kété komponim CuSO, x 10H, O?

A)1 B)8 C4 D)36 E)10

31. Verilen bilesikte kag farkli atom bulunmaktadir,
CuSO, x10H, O:
A)1l B)8 ()4

D) 36 E) 10

31. How many different types of atoms are present
in this compound CuSO, x 10H, O :

A)1 B)8 C4 D)36 E) 10

32. Koe og cnegHuBe coefnHeHuMja e OpMUpPaHO
CO KOBA/IEHTHU BPCKN?

A) NaCl
D) NH,

B) Mgcl, C) NaOH
E) NaNO,

‘
-

TG §-:In:-|ar9l1i(:- AExam

£

32. Cila nga komponimet e méposhtme éshté
formuar me lidhje kovalente?
A) Nacl B) MgCl, C) NaOH
D) NH, E) NaNO,

32. Asagidaki bilesiklerin hangisi kovalent bag igerir ?

A) NaCl B) MgCl, C) NaOH
D) NH, E) NaNO,

32. Which of the following compounds is formed by
covalent bonds?

A) NaCl
D) NH,

B) MgCl, C) NaOH
E) NaNO,

33. Koe wnme Ha coegnHeHMeTo e p[afeHo
HenpaBUAHO?

A)H,S0, CyndypHa KnucenunHa.

B) Na,CO, KapboHat

C)N,O, [Ina3oTeH neHTaoKcuAa,

D) co, Jarnepoa anokcng

E) NO A30T MOHOKCUA,

33. Cili emér i komponimit éshté dhéné gabimisht?

A) H,S0, Acidi Sulfurik

B) Na,CO, Karbonat

C) N,O, Pentaoksidi i azotit
D) CO, Dioksidi i karbonit

E) NO Monoksidi i azotit

33. Asagidaki bilesik isimlerinden hangisi yanlistir?

A)H,SO, Sulfirik asit

B) Na,CO, Karbonat
C)N,O, Diazot pentoksit
D) CO, Karbon dioksit
E) NO Azot monoksit

33. Which name of the compound is given
incorrectly?

A)H,SO, Sulfuric acid

B) Na,CO, Carbonate

C) N,O, Dinitrogen pentoxide
D) CO, Carbon dioxide

E) NO Nitrogen monoxide



34. Koja op cnegHuBe peduHULMKM ja OnNUWYBA
GAYHATA?

A) MecTo BO KO€ XnBeaT UHAMBUOYUTE
(BMpoBuTe).

B) dyHKuMjaTa Ha oapeneH BUA, BO EKOCUCTEM.
C) Mpyna nonynauuja(Bnaosu) WTO XKuBeeat
3aeaHo.

D) BunHa nonynaumja Koja KMBee BO MOPETO.

E) CuTe }KMBOTMHCKM NONyAaLLMK LTO ¥K1BEaT BO
wyma.

34. Cila nga definimet e méposhtme pérshkruan
FAUNEN?
A) Njé vend ku jetojné individét e llojit(popullatés).
B) Funksioni i llojeve té vecanta né njé ekosistem.
C) Njé grup i llojeve(popullatave ) gé jetojné sé
bashku.
D) Njé lloj(popullsi) bimor/e gé jeton né det.
E) té gjitha popullatat e shtazor/e gé jeton né njé
pyll.
“FAUNA”

34. Asagidakilerden hangisi teriminin

tanimidir.
A) Bir populasyonun biitiin bireylerinin yasadigi
cografi bolge
B) Bir ekosistemde bir canli tiirlinlin ekolojik
fonksiyonu
C) Birarada yasayan farkli populasyonlarin tamami
D) Denizde yasayan bir bitki populasyonu
E) Bir ormanda yasayan bitiin hayvan
populasyonlari

34. Which of the following describes FAUNA?

A) A place in where the individuals of population
live

B) The function of a particular species in an
ecosystem

C) A group of populations living together

D) A plant population living in the sea

E) An animal populations living in the forest

35. Koe og cnefHMBE € OCHOBHUOT KAETOYEH TUN Ha
HepBeH cuctem?
A) NleykouuT.
C) EpuTtpobnact

E) OcTeouur.

B) HespoH
D) Unutonnasma

021 & 2022
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35. Cila nga sa vijojné mé poshté paraget gelizén
themelore té sistemit nervoré?

A) Leukocitet (rruazat e bardha)

B) Neuroni C) Eritroblastet

D) Citoplazma E) Osteocitet.

35. Asagidakilerden hangisi sinir sistemini olusturan
temel hiicre tirudir?

A) Lokosit B) Noron
C) Eritroblast D) Sitoplazma
E) Osteosit

35. Which of the following is the basic cell type of
nervous system?

A) Leukocyte
C) Erythroblast
E) Osteocyte

B) Neuron
D) Cytoplasm

36. 30WWTO NaNeOHTOI03UTE UCTParKyBaaT pocnam?

A) [la ce yTBpOM KaKo MOXKeMe 4a ja cnpeynme
eposunjaTa NnpeansBMKaHa og nyreto.

B) a ce yTBpAM Hajao0bpmoT HaumnH 3a epUKacHa
3emjofesicka xpaHa.

C) [la ce oTKpWjaT HOBU HAUMHU HA NPOM3BO/ACTBO
Ha eHepruja.

D) [a Hayunmme 3a MUHATaTa UCTOPMja Ha
*KMBOTOT Ha 3emjaTa.

E) Ja no3Haeme KaKo aa ce crnpeun bonecra.

36. Pse paleontologét hulumtojné fosilet?

A) Pér té pércaktuar se si ne mund té
parandalojmé erozionin e shkaktuar nga njerézit.
B) Pér té pércaktuar ményrén meé té miré pér njé
ushgim bujgésor me efekt.

C) Pér té zbuluar ményra té reja té gjenerimit té
energjisé.

D) Pér té mésuar né lidhje me historiné e kaluar
té jetés né Toke.

E) Pér té zbuluar se si té parandalohen
sémundjet.



36. Paleantolojistlerin fosiller lzerinde arastirmalar
yapmalarinin ana amaci nedir?

A) insan kaynakli erozyon problemlerine ¢6ziim
bulmak

B) Tarim ve ziraatte en verimli Gretim
yontemlerini tanimlamak

C) Yeni enerji kaynaklari kesfetmek

D) Yasamin yeryuziinde nasil ortaya ¢iktigini ve
bugline geldigini agiklamak

E) Hastaliklara karsi 6nlemler gelistirmek

36. Why do paleontologists research fossils?

A) To determine how we can prevent erosion
caused by humans

B) To determine the best way to efficiently farm
food

C) To discover new ways of generating energy

D) To learn about the past history of life on Earth
E) To find out how to prevent disease

37. Bo Koja Knaca Ha pacTeHuja, penpoayKumjaTta ce
jaByBa co popmmpatrbe ceme, HO He BO LBET?

A) Anru

B) MoBosu

C) MoHoKoTUNeaoHa
D) AukoTnneaoHa

E) lfMmHocnepma

37. Né cilén klasé té biméve, riprodhimi ndodh duke
formuar faré, por jo né lule?

A) Algat

B) Myshget

C) Monokotiledone

D) Dikotiledone

E) Gjimnospermat

37. Asagidaki bitki siniflarinin hangisinde, Greme
amach tohum Uretilir ama gicek bulunmaz?

A) Algler

B) Kara yosunlari

C) Monokotiller

D) Dikotiller

E) Gimnospermler
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37. In which class of plants, reproduction occurs by
forming seed but not in a flower?

A) Algae

B) Land mosses

C) Monocotyledonae

D) Dicotyledonae

E) Gymnospermae

38. KaKo ce BMKa MeCTOTO Kaje HacTaHyBa
3eMjOTPEecoT BO BHATPELIHOCTA Ha 3emjaTa ?
A) cemsmorpad
B) enunueHTap
C) puxtep
D) xunoueHTap
E) TekToHMKa

38. Si quhet vendi apo gendra né té cilén fillon
térmeti nga néntoka?

A) Seizmograf

B) Epigendér

C) Rihter

D) Hipogendér

E) Tektoniké

38. Yer altinda depremin basladigi merkezin adi
asagidakilerden hangisidir?

A) Sismograf

B) Episantr

C) Richter

D) Hiposantr

E) Tektonik

38. Which one of the following is the name of the
underground centre point where the earthquake
starts?

A) Sismograph

B) Episantr

C) Richter

D) Hiposantr

E) Tectonic

39. Koe e Hajronemo e3epo u Hajaonra peKka Bo
Penybnuka CesepHa MakeaoHuja?

A) [LojpaHcko - TpecKa

B) Oxpuacko — Bapaap

C) MpecnaHcKo - bperanHuua

D) MaBpoBcKo - OTuHa

E) TukseLwKo - Bapaap



39. Né Republikén e Magedonisé sé Veriut cili éshté

ligeni mé i madh dhe lumi mé i gjaté?

A) Dojran — Treska

B) Ohér — Vardari

C) Prespa — Bregallnica
D) Mavrové — Otinja

E) Tikvesh — Vardari

39. Kuzey Makedonya Cumhuriyeti'nin en blylk
g6lu ve en uzun nehri asagidakilerden hangisidir?
A) Doyran - Treska
B) Ohri - Vardar
C) Prespa - Bregalnica
D) Mavrova - Otinya
E) Tikves — Vardar

39. Which one of the following is the longest river

and the biggest lake of North Macedonia?

A) Dojran — Treska B) Ohri - Vardar
C) Prespa - Bregalnica D) Mavrova - Otinya
E) Tikves — Vardar

40. Koj oa cnegHnTe NapoBu KOHTUHEHT-3emja e
norpeLeH?

A) JyxkHa AmepuKa - MeKchKo

B) Asuja - KnuHa

C) AdpuKa - Hurepuja

D) CeBepHa AmepuKa - KaHaga

E) EBpona - lepmaHuja

40. Cila prej kétyre kombinimeve kontinent-shtet
éshté gabim?

A) Amerika Jugore — Meksika

B) Azia —Kina

C) Afrika — Nigeria

D) Amerika Veriore — Kanada

E) Evropé — Gjermani

40. Asagidaki kita - Gilke eslestirmelerinden hangisi
yanhstir?

A) Glney Amerika - Meksika

B) Asya - Cin

C) Afrika - Nijerya

D) Kuzey Amerika - Kanada

E) Avrupa — Almanya
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40. Which one of the following country — continent
match is wrong?

A) South America - Mexico
B) Asia - China

C) Africa - Nigeria

D) North America - Canada
E) Europe — Germany

41. KonKy n3HecyBa NnoBpLlIKHaTa Ha Penybauka
CeBepHa MakegoHuja?

A) 15.713 km?

B) 23.731 km?

C) 25.713 km?

D) 27.513 km?

E) 20.713 km?

41. Sa éshteé sipérfagja e Republikés sé Magedonisé
Veriore?

A) 15.713 km?

B) 23.731 km?

C) 25.713 km?

D) 27.513 km?

E) 20.713 km?

41. Kuzey Makedonya Cumbhuriyeti'nin yiiz6lglimii
asagidakilerden hangisidir ?

A) 15,713 km?

B) 23,731 km?

C) 25.713 km?

D) 27,513 km?

E) 20,713 km?

41. Which one of the following is acreage of R. North
Macedonia?

A) 15,713 km?

B) 23,731 km?

C) 25.713 km?

D) 27,513 km?

E) 20,713 km?



42, Koj og cnegHMBE NOMMM He € NMULIAH NCTOPUCKMU
nssop?

A) 3amoum

B) BecHMUM

C) KHurM

D) manu

E) nucma

42. Cili nga termat e méposhtém nuk éshté njé
burim i shkruar historik ?

A) Késhtjella
B) Gazetat
C) Libra

D) Hartat

E) Letra

42. Asagidakilerden hangisi tarihin yazili
kaynaklarindan biri degildir?

A) Kaleler

B) Gazeteler
C) Kitaplar
D) Haritalar
E) Mektuplar

42. Which one of the following is not written
source of history?

A) Castles

B) Newspaper

C) Books

D) Map

E) Letter

43. Koj og cnegHuBe UCTOPUCKKU rpaabu nocneneH
e n3rpageH?

A) KuHecku 3ug,

B) Mupamugara Ha Keonc

C) Aja Coduja

D) Ajdenosa Kyna

E) Konoceym

43. Cila nga ndértesat historike té méposhtme éshté
ndértuar e fundit?

A) Muri Kinez

B) Piramida e Keopsit

C) Aja Sofija

D) Kulla e Ajfelit

E) Kolosseumi
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43. Asagidaki tarihi yapilardan hangisi en son
yapilmistir?

A) Cin duvari

B) Keops piramidi

C) Ayasofya

D) Eyfel kulesi

E) Colosseum

43. Which one of the following has been built last?
A) The Great Wall of China
B) Pyramid of Cheops
C) Hagia Sophia
D) Eiffel Tower
E) Colosseum

44. MNpsunoT NpeTcegarten Ha He3aBUCHA
MakenoHuja e :

A) Hukona Kapes

B) Kupo Muropos

C) BpaHko LipBeHKocKK
D) Bopwuc Tpajkocku

E) CreBo MNeHAapoBCKM

44. Clli nga emrat e poshtépérmendur ka géné
Presidenti i paré i Magedonisé sé Pavarur?

A) Nikolla Karev

B) Kiro Gligorov

C) Branko Crvenkoski
D) Boris Traykoski

E) Stevo Pendarovski

44. Bagimsiz Makedonya'nin ilk Cumhurbaskani

asagidakilerden hangisidir?
A) Nikola Karev
B) Kiro Gligorov
C) Branko Crvenkoski
D) Boris Traykoski
E) Stevo Pendarovski

44. Which one of the following is the first president
of Independent Macedonia?

A) Nikola Karev

B) Kiro Gligorov

C) Branko Crvenkoski

D) Boris Traykoski

E) Stevo Pendarovski



45. Koj ja co3pgan npBata CNOBEHCKa a3byka U
HEj3MHOTO UMme e:

A) KnumeHT 1 Haym - Kupunumua
B) Tanec v NnatoH - Andabeta

C) Kupun n Metogu - Maronuua
D) KukepoH u CeHeka - /laTuHMUaA
E) Camowun u Bacunuj— Maronmua

45, Kush e krijoi alfabetin e paré sllav dhe si u quajt
ky alfabet?

A) Klimenti & Naumi - alfabeti Kirilik
B) Pérrallat & Platoni - Alphabetta
C) Kirili & Metodi - Glagolica

D) Ciceroni & Seneka - Alfabeti Latin
E) Samoili & Vasili — Glagolica

45, Slav alfabesini bulanlar ve bu alfabenin ilk

versiyonunun adi asagidakilerden hangisidir?
A) Kliment& Naum — Kiril alfabesi
B) Tales&Platon - Alfabeta
C) Kiril&Metody - Glagolica
D) Cicero&Seneca — Latin alfabesi
E) Samoil&Vasiliy - Glagolica

45. Which one of the following is the founders of

Slavic alphabet and first version’s name?
A) Kliment& Naum — Cyrillic alphabet
B) Tales&Platon - Alfabeta
C) Cyril&Metody - Glagolic
D) CiCero&Seneca — Latin alphabet
E) Samoil&Vasiliy — Glagolica
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- CUMEeTpUYHA CAMKa Ha NPpeaMeToT NPUKaXKaH 2/ 21 \3 S/ 43 \8
nogony e:

- Reflektimi i objektit té méposhtém éshté: /8\

-Verilen nesnenin yansiyan goriintlsu:

-The reflected image of the object shown above it Z 2

is:

A) 76 B)33 ()41 D)48 E)44

|
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|
I
|
I
|
I
A) 48.
| - MpoHajan ro BKYNHUOT 6Pp0j Ha KOLLKK.
| - Gjeni numrin total té kubeve.
| -Toplam kiip sayisini bulunuz.
: -Find the total number of cubes.
|
! 3
| ]
B) =
[ 8
| N
' £
' 3
| el
! £
:
C) E
i ‘i? A) 14 B)21 C)22 D)23 E)24
} 49.
! L
o AW Wi W'
| i
} - Koj cnuka e cnegHa?
I - Cfaré vijen mé pas?
: -Siradaki hangi sekildir?
-What comes next?
|
E) A) B) Q) D) E)
|
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56. 58.

- BKynHuMoT 6poj Ha KBaapaTy €:

- Gjeni numrin total té katroréve:

-Toplam kare sayisi:
-Total number of the squares:

© &
O

A) B) Q) D) E)
A) 18 B)27 ()36 D) 39 E) 40 @@@@

N
& 59,
8 6 7 7 6
a : A A A A
(]
b
.2 2 5 3 4 2 5 3
=]
[ ) o ‘{‘_A)s B) 4 )5 D)6 E)8
A B C Eé
2
o
{260.
D E l'“_'(‘ l
1 1
1 2 1
1 3 3 1
1 4 6 4 1
. 1 X y z t 1
— — X+y+z+t="?
A) 25 B) 30 C)35 D)40 E) 45

A) A B) B c)cC D)D E)E
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Scoring of the ﬁ\ ance Exam
. W

Mathematics(ZS) ach ¢ ooints 45 points
General Know\edge ints 31 points
Logic (15) 24 points
100 points

- Announcement Date of S Results : May 11, 2021

ults to be announced on :

<
y

pk.com/yke.
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